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W3 — Factor x% + bx + ¢
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1) Factor, if possible.

a)x?+7x+10

= (1)(2r9)

d)p?+9p + 12
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2) Factor, if possible.

a)ym? —-7m+ 10

- (m%ﬂ(.wij

d)r? — 167 + 64
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3) Factor, if possible.

a)a’?—-3a—10

S %
-5 4

e

- (a— 5 )(GL{—D_\

.2 .
b) j + 12j + 27 a w3 =
A4+ D =
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e)w? + 11w + 25
% =3
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b) x 5x+7 . _
_ 4+__=-5
noY Facyoraele.
e)w? — 9w + 24
_ %__ =934
4+ =1
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D4k =3
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= (y-0(y-\)

f)g> — 10q + 9
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df?+7f—-6 2_5g—14 f)r2+2r—=6
)f2+7f a =t e)g g 7wl - )r? + 2r
4 =1 “14 3 =-5 % =6
4 =
- -7 2
nor Factoraole = (9 )(qe2) not fadorek 1€
2 _ 2 _ _ H 2 _ 2
g) x4+ x—42 Fie _ -y h) b 2b —4 s =y i)x°+xy—42y
46 = 4+ ==& l?("_é =4
T +-6 = |
alo)
- (ﬂ@’ﬂ(ﬂc—é> NIT fackorallc i(’)@fmj)(%’é:j)
w2 _ 2 4 2 2 _
j) x* — 8xy — 48y T k) x +111x + 24 )x—9
a4 Y =- (et k=X 3 w3 =1
— KV UK Y LY Ee S
= (x — 12y)(x + 4y) - ey <4+ 3 =1
TS = (w3)x-3)
= () ()
4) Factor, if possible.
a)3x2+12x+9 b) 2d? — 22d + 56
_ A . \
= 3 (i +3) N = 2(o*- 114 +29) vy =as
= 33 + =4 = (1)) 7474 =-\
c) 5z2 + 40z + 60 d) 452 —8s — 32
~ 5(z%% ‘HJ«—\ — =
C%"’ A w6 =1 =4-(SZ—ZS—8) —X—_‘
A4+ b =% _t— ~

= 5(z+3)(2+)

=4(s—4)(s+2)


































































































































































































































5) Factor, if possible.

a) x* + 10x2y + 9y? b)(x+a)?+3(x+a)+2

Lk k=3 Let k=2
) N 9w = q L = 4
= \(\})f\O\«LS%O[LS ij‘_ ~ 19 = K43k :j(: =3
= (%ﬂg\(‘ﬁ*%\ = (ked)( k)
= Cﬂ@r‘?gﬂ(f ) = (xroxd) (rar!)

6) Determine binomials that represent the length and width of the rectangle. Then, determine the dimensions

of the rectangle if x represents 15 cm.

A= XL k4O Area is
d w2 =% 2
;\:@cr\o}(’)d—%\ .9 =g x°+ 18x + 80
]Le,‘_g%\ Wi

A = (1511015

Az (9)03) The \esdis 250m
A= 575 cm The width is d3em

Answers

1)a) (x +5)(x+2) b)G+9)(j +3) c) (k+4)(k+ 1) d)not possible e) not possible f) (d + 6)(d + 4)

2)a) (m — 2)(m — 5) b) not possible ¢) (y —4)(y — 1) d) (r — 8)? e) not possible f) (g —9)(q — 1)
3)a)(a—5)(a+2) b)(s+5)(s—2) c)(d—-9)(d+ 1) d)not possible e) (g —7)(g + 2) f) not possible

g) (x + 7)(x — 6) h) not possible i) (x + 7y)(x — 6y) j) (x — 12y)(x + 4y) k) (x2 +8)(x? + 3) 1) (x — 3)(x + 3)
4)a)3(x+3)(x+1) b)2(d—7)(d—4) ¢)5(z+6)(z+2) d)4(s —4)(s +2)

5a) (x> +9Y) (x> +y) b) (x +a+2)(x +a+1)

6) A = (x + 10)(x + 8); the rectangle is 25 cm by 23 cm.












































































